QUALITY M%Tﬁgg 1 9 5 8
SHINMYUNGH

(&) &IBET|

SHINMYUNG ELECTRIC MFG. CO.,LTD.




QUALITY MOTORS SINCE 1958

1.4215 (Fans) %,
SAEIR| MEALR
2. H8 (Wiring)
Tz S8 Hsldi],
29 il A2
3 4|42 (Bearings)
Xag 21 ALe
4 EHRHEIA (| ead Box)
SHMENES 7|5
5. 1A} HAl (Stator)
e Az
6.3|8%} (Rotor)
Y CloHAE,
B2 O 2 XAS MRS
7.%(Shaft)
7| A7EE EAZA
8. 22| (Frame)
7155t P T
Hatsl 22412

=l




571 AR

B0
[
o
Ay
~
P
K-
o
20
=31

™=
o
G

<

SHIN MYUNG LY @J[€:§]
5

247

L=

=

HAZo) o



. »432(POLES) Fx A= KS EAIEY

60 (6308zz| 63062z | 57
60 |6308zz| 63062z | 67
90 [6309zz| 6208z | 106

+1328| 5.5 | 1 440|360 139(289|271|216(140| 89 | 38k6| 80 | 132(265| 12 |177| 33 |225| 10
+132M| 7.5 | 1 | 478|398 139(289|271216(178| 89 | 38k6| 80 | 132(265| 12 |218| 33 | 225 10

® Atk (Specification)
« ¢} (Voltage): +160M| 11

563|453 144]294 {304 [264(210{108| 42k6( 110| 160|310| 15| 255| 37 | 228| 12

=

220V,220/380V,380V,220/440V,440V

At S HE| (FE8) FR@,.E ouT PUT] DIMENSION(mm) KEYSZE | BEARNG | NET
co/l\uirs kwime| L |s|w|{n|alals|c|o|e|H|i|k|u|T|o]|F]|a|V|Lom|umom| (o
T Fitassindiustion Motors +63| 0.2 | 1|222|199|635(134|126|100| 80 | 40 | 1116| 23 | 63 [130| 7 |100] 10|708| - | - | - |6202z| 620222 | &
standard Type
711 02 | 1 [240210| 73 [146{140{112| 90 | 45 | 14re| 30 | 71 |150] 7 [110] 1] 73| 5 | 5 | 20 |620222 620222 | 7
71| 04 | 1|247(217| 78 | 156 |149|112| 90 | 45 | 14| 30 | 71 |144| 7 [120] 11 [126] 5 | 5 | 20 |6204zz| 620222 | 13
+80(0.75 | T |280{240] 82 | 164|162|125|100| 50 | 1976| 40 | 80 |165| 10| 140| 155| 135| 6 | 6 | 25 |6204z| 62032 | 15
908075 | 1293|243 99 | 198|189 |140[100| 86 | 2216] 50 | 90 [180| 10 |128] 18 |152| 7 | 7 | 40 |620522| 620422 | 18
.90L| 15 | 1 [316|266| 99 |198(189(140|125| 56 | 246| 50 | 90 |180| 10 |148| 20| 152| 8 | 7 | 40 |62062z| 6204z | 23
«100L] 22 | 1 |357[291] 106|216|206|160| 140| 63 | 2816| 60 | 100208 12 [170| 24| 170| 8 | 7 | 50 |620622| 620622 30
1125| 22 | 1 |343|283| 114|229|226(190| 114 70 | 2816| 60 | 112]230| 12 |146| 24| 177| 7 | 7 | 50 |620622| 620622 | 32
«112M| 3.7 | 1|373[313( 114|220 226 [190[ 140| 70 | 288 60 | 112]230( 12| 170[ 24| 177| & | 7 | 50 620622 620572 | 40
8
8
8
8
9

L, ; +160L| 16 | I |606|496| 160|335 [320|254| 254 108 | 42k6| 110| 160(310] 15 |300| 37 | 253| 12 90 |6309zz| 620822 | 127
« FIl5(Frequency) :60Hz(50Hz)
- 24(Poles):2P.4P.6P.8P.2/AP 4/6P.4/8P  +180M| 185 | I [647(537| 179|365 359|279| 241|121 | 48k6| 110| 180|349 | 15 | 295|425| 300 14 90 |6310z2 63092z | 160
« SH4(R.P.M):3600(3000),1800(1500),  1e0ml 22 | 175
1200(1000),900(750)
+ 9|2+l Type of Enclosure): +180L| 30 | 1 |671(561179|365|359|279|279| 121 | 55me| 110| 180|349 15 |318| 49 [300] 16 | 10| 90 |631222| 63097z | 240
T (Totally Enclosed) «200L] 37 | I [787(647| 199|403 |405|318[305 | 133 | 60me| 140| 200{390| 19 |380| 53 |311| 18 | 11|110|6313z2| 631122 | 256
« iz (Cooling System):
28|47} (Fan Cooled Type) 200L] 37 | 1|710{570( 201|411{401(318|305 133 | 55mé| 110| 200{390| 19 |350| 50 | 324| 15 | 10| 90 |6313z2| 631122 | 250
+ 84 (Rating)- e#%(Continuous) 200L| 45 | 1 |787|647|199]403|405(318|305 | 133| 60m6| 140 200{390| 19 | 380 53| 311| 18 | 11]110{6313z| 63112z | 266
« HodA|Z (Insulation Class):E,B,F&
2955| 55 | 1 825|685 221|446 |460(356|311 149 | 65me| 140| 225|428 19 [390| 55 | 375| 18 | 11| 110|6314zz| 631122 | 320
o508| 75 | I |913|773| 243|491|504 |406|349| 168 | T5m| 140| 250(487 | 24 460|675 398| 20 | 12| 110|63172z| 631322 | 371

F)AFS A NFTe] AR BAE TR sy

»6=(POLES) T« JEAlE KS EAEY
FRAVE|OUT PUT DIMENSION(mm) KEYSZE | BEARNG | NET
NO kwlre| L|s|w|N|a|A|lB|C|D]|E|H]|I KUTOFGVLOADUI\HOADW&SFT
71| 02 | 1| 247(217| 78 | 156| 149| 112| 90 | 45 | 146 | 30| 71| 144| 7 | 120] 11 |126| 5 | 5 | 20 6204z 620222 | 13
+80| 04 | I | 280|240| 82 | 164] 162|125( 100| 50 | 1956 | 40| 80| 165| 10| 140|155| 135| 6 | 6 | 25 [6204zf 6203z | 15
90| 0.4 | 1 |293|243| 99 | 198| 189[140| 100| 56 | 2206 | 50| 90| 180| 10| 128| 18 | 152| 7 | 7 | 40 6205z 62042z | 18
«00L[0.75| 1 | 316|266/ 99 | 198 189|140| 125| 56 | 2458 | 50| 90| 180| 10| 148| 20 | 152| 8 | 7 | 40 |620527] 6204z | 23
+100L| 15 | T | 351|291| 106| 216| 208| 160| 140| 63 | 286 | 60| 100| 208| 12| 170] 24 | 170| 8 | 7 | 50 |6206z7 62052z | 30
1128] 15 | 1 | 343(283| 114| 229| 226 190| 14| 70 | 2806 | 60| 112| 230| 12 | 146| 24 [177| 7 | 7 | 50 |62062| 62052z | 32
112M| 22 | 1| 373(313| 114] 229| 226| 190{ 140| 70 | 88| 60| 112|230| 12 | 170 24 |177| 8 | 7 | 50 |620622| 6205 | 40
+1325| 3.7 | T | 440|360| 139| 289| 271(216| 140| 89 | 38k6| 80 132| 265| 12| 177 33 | 225| 10 | 8 | 60 |63082| 63062z | 57
+130M| 55 | T | 478[398| 139| 289| 271| 216| 178| 89 | 38k6| 80| 132|265| 12| 218 33 | 225| 10| 8 | 60 |6308z| 630622 | 67
+160M| 75 | 11 | 563|453| 144| 204| 304| 254 210| 108| 42k6| 110] 160[ 310| 15 | 255 37 | 228 12| 8 | 90 |6309z2| 62082z | 106
+160L| 11 | T | 606|496 160| 335| 320| 254| 254| 108| 42k6 | 10| 160|310| 15 | 300| 37 | 253 12 | & | 90 |6309z7| 6208z | 127
180L| 15 | I | 647|537 179| 365| 359| 27| 241| 121| 486 | 110| 180 349| 15 | 295[42.5300| 14 | 9 | 90 |6310z7) 6309z | 176
200L| 185 | 11 | 787|647| 199 403| 405|318 305| 133|60m6| 140] 200| 390| 19 | 380| 53 31| 18| 11| 110(63132| 631122 | 256
2
200L| 30 | I | 787|647| 199] 403 | 405|318 305| 133|60m6)| 140] 200[ 390| 19 | 380 53 31| 18| 11| 110(63132| 63112z | 266
258 37
45 | 1 | 825(685| 221| 446| 460| 356| 311| 149 |65mb| 140| 225| 428| 19 | 390] 55 | 375| 18 | 11| 110|634 631122 | 320
2603 | 85 | 11 | 913|773| 243| 491| 504{ 406| 349 168 | 75m6| 140| 250| 487| 24 | 460[67.5(398| 20 | 12| 110631727 6313z | 371




»23(POLES)

FRAVE [OUT PUT DIMENSION(mm) KEVSZE | BEARNG | NET
NO Jkwire| L [s|{w|N|a|a|B|c|D|E|H|I|k|u|T|o|F]|G]|V |LoaD[un-LoD| (g
71|02 | 1 |236|206| 73 | 146] 140{112| 90 | 45 [14h6| 30 | 71 [150| 7 [110] 11| 73| & | 5 | 20 |620222| 620222 | 7
71| 04 | 1 [247|217| 78 | 156| 149(112| 90 | 45 [14r6| 30| 71 {144| 7 |120] 11[126] 5 | 5 | 20 |620422| 620222 | 13
80(0.75 | I |271(231| 78 | 156{158(125| 100| 50 [19h6| 40 | 80 {185| 10|140| 16 [135| 5 | 5 | 30 |620422| 620322 | 15
90| 15 | I [324|274| 94 | 18] 184|140[125| 56 |24h6| 50 | 90 [170{ 10 |150| 20 [150| 7 | 7 | 40 |620522| 620622 | 23
100L | 22 | 1 [353|303| 94 | 188 194|160/ 140| 63 |24h6| 50 | 100{198| 12 |175| 20 [150| 7 | 7 | 40 |620622| 620522 | 28
100L | 37 | 1 |363|303| 94 | 188 194| 160|140 63 | 2806| 60 | 100(198| 12 |175| 24 |150| 7 | 7 | 50 |620622| 620622 | 38
1325 | 5.5 | T |440|360( 139| 289|271|216| 140 89 | 386 80 | 132|265| 12 |177| 33 |225| 10 | 8 | 60 [630822| 630622 | 56
132M | 7.5 | 1 |478(398| 139 | 289| 271|216[178| 89 | 38k6| 80 | 132{265| 12 [218] 33 [225| 10 | 8 | 60 |630822| 630622 | 64
160M | 11 | I 563|453 14| 294|304|254|210| 108 | 42k6| 110] 160|310| 15 285 37 [228| 12| 8 | 90 [6309z2| 620822 | 105
160L| 15 | 1 606 |496] 160|335 320| 254| 254| 108 | 42k6| 110| 160 310| 15 |300 37 |253] 12| 8 | 90 |6309z2| 620822 | 126
180M [ 185 | 1 |647(537|179|365|359|279(241| 121 | 48k6| 110| 180|349 | 15 [295]425(300| 14 | 9 | 90 |631022| 630922 | 160
180M| 22 |1 174
A Age AT A4 W8 45 dgut
*HAGE4H= 0 mmd.
05
E
FIG | s E
-
L/
| e
| e @7”* . —
o, L
d e S
e B e
U
i
FIG 1 5 E
/":;ZZ7
= Y//
4-#K 1H0LES
L
FIG I : .
= f

R

Kl

o

7
7

4-gK HOLES

6
NINIV{VNE] MOTORS
7



. »4=3(POLES)

FRAME|OUT PUT DIMENSION(mm) KEYSIZE | BEARING NET
AL S =] (ZHIXI5 WEIGHT
MM R HE7| (BHIX|E) No [ewlrsl LlsTrlalelclolel|i]alc{n]p|T{ulF|c]|v|Loa uow| kg
Three Phase induction Motors 1 | 258|228]121] 30 {110{ 10| 14| 20| 4 | 9 |130] 4 |160] 11| 138| 5 20 | 6204z | 620222 | g
Flange Type |02
‘ T | 2581228 124] 30 [110] 10| 14| 30| 4 | 9 [130] 4 |160| 11{148| & | 6 | 20 | 6204zz | 620222 6
1 1262]222]122| 40 |110| 10| 19| 40| 4 | 9 |130| 4 |160| 16]150| & | 5 | 30 | 6204z | 620222 9
21 | oa |1 |24|23a[121| 40 |110] 10] 19| 0| 4 | 9 | 130] 4 |160] 16]138] 6 | & | 25 | 6204z | 62022 9
W | 2781234 124] 40 [110] 10| 19| 20| 4 | 9 [130] 4 |160| 16| 148| & | 5 | 25 | 62042z | 620222 8
o, I | 282(242|125] 40 |110| 10| 19| 40| 4 | 9 [130| 4 [160| 16| 160 5 | & | 30 | 6204z | 62022z | 12
" | 2732330 120 20 |110] 10| 19| 40| 4 | 9 |130| 4 [160| 16| 160| 5 | & | 30 | 6204z | 620222 | 12
- I 13020262|125] 40 (110 12| 19| 40| 4 | 9 [130| 4 |160| 16| 160 5 | 5 | 30 | 62042z | 620222 | 13
[ 203]253]129] 40 {110 12| 19| 40| 4 | 9 |130] 4 |160| 16]160| & | 5 | 30 | 6204z | 62022z | 13
sl |o7s L 1129]29] 125 50 1130] 12| 2| 50| 4 | 12| 165| 4 |200| 18| 160 7 | 7 | 35 | 62062 | 62022z | 16
" | 2ssl238] 135| 50 [130] 12| 22| 80| 4 | 12| 165| 4 |200| 18| 160| 7 | 7 | 35 | 6205z | 6203z | 16
1 1200|242 145| 50 [130] 12| 22| 50| 4 | 15| 165| 4 |200| 18] 188| 7 | 7 | 40 | 62052z | 62042z | 22
90s lo075] 1 |308(258|145] 50 130| 12| 22| 50| 4 | 12| 165| 4 |200| 18|182| 7 | 7 | 40 | 62052z | 62042z | 21
o v | 308l258] 150] 50 [130] 12| 22| 80| 4 | 12| 165| 4 |200| 18[182| 7 | 7 | 40 | 6205z | 6204z
o Al (Specification) z 2
- 8¢t (Voltage): 1 1326|288 160| 50 [130( 12| 24| 50| 4 | 15| 165| 4 |200| 20{188| 7 | 7 | 40 | 62052z | 62042z | 26
220V,220/380V,380V,. 90L |15 |1 |343]293|145| 50 [130] 12| 24| 50| 4 | 12| 165| 4 |200| 20| 182 7 | 7 | 40 | 62052z | 6204z %
220/440V 440V W [ 347)297] 150] 50 [130] 12| 24| 80| 4 | 12| 165| 4 |200| 20| 182| 7 | 7 | 40 | 62052z | 6204
« =% (Frequency) :60Hz(50Hz) s Z| 5
+ 24=(Poles) :2P,4P,6P,8P, . 1 | 365(315|161| 50 [180| 15| 24| 50| 5 | 15| 215| 4 |[250| 20| 213| 7 | 7 | 40 | 62062z | 620522 34
1 :
2/4p 4/6P 4/8P I | 365[a15| 126] 50 [180| 15| 24] 50| 5 | 15| 218] 4 [250] 20]232| 7 | 7 | 40 | 6206|6205 | 35
+ 3|X4=(R.P.M):3600(3000),
1800(1500),1200(1000),900(750) 1 1347(287|185| 60 |180| 15| 28| 60| 5 | 15| 215| 4 |250| 24|224| 7 | 7 | 50 | 62062z | 62052z 38
« 9|m=HA(Type of Enclosure): 112M | 22 |1 | 375(315|161| 60 [180| 15| 28| 60| 5 | 15| 215| 4 |250| 24|213| 7 | 7 | 50 | 62062z | 62052z 37
& (Totally Enclosed) =
. v | 379|319/170{ 60 180 15 | 28| 60 15| 215( 4 |250| 24232 6205
« HZ1HA (Cooling System): ° = LT LG | e 5 o
ZHR|47H(Fan Cooled Type) 1 1377]317]185] 60 [180] 15| 28] 60| 5 | 15| 215] 4 |250| 24| 224| 7 | 7 | 50 | 6206z | 62062z | 47
+ 82 (Rating): @4 (Continuous) 1oL | 37 [ [08|aa5|153] 60 [180[ 16| 28] 60| 5 | 15| 218] 4 [260| 24[213] 7 [ 7 | 50 | 620622 | 620822 | 4
« Ho4A|Z(Insulation Class) E,B.F& -
v [400|349[170] 60 [180] 15| 28] 60| 5 | 15| 215] 4 |250| 24| 232| 7 | 7 | 50 | 62062z | 620522 | 45
1225 |55 |1 |450[370[228] 80 230] 15| 38| 80| 5 | 17| 265| 4 [300| 33| 274| 10| 8 | 60 | 6308z | 6306z | 63
1220 |75 |1 | 488|a08|228] 80 [230] 15| 38| 80| 5 | 17| 265 4 [300| 33| 274{ 10| 8 | 60 | 6308z | 6306z | 73
160M | 11 |1 [615]508] 240] 110[250] 19| 42{110] 5 | 20| 300[ 4 [350] 37|317| 12| 8 | 90 | 6310z | 6208z | 128
160L | 15 135
180M 11851 1 |ess|s78]300] 110[300] 19| 48] 110] 5 | 26| 350| 4 [400(425358| 14| 9 | 90 | 6311z | 63092z | 171
2 184
180L | 20 |1 |7250615|317] 110]300] 19 | &5 [ 110] 5 | 26| 350| 4 |400] 49(398| 16 [10 | 90 | 63122z | 63112z | 248
200L | 37 |1 | 820]680[311] 120[350| 19| 60| 140] 5 | 26 | 400| 8 [450] 53|398| 18|11 | 110 63132z | 63112z | 268
45 274
25. | 55 | 1 |867|727]375] 120[450] 19| 65| 140| 5 | 30| 500| 8 |880| 58| 441| 18|11 | 110] 63162z | 6311z | 329
250M | 75 | 1 | 945805/ 398| 120[450] 19| 75| 140| 5 | 30|500| 8 [650(675486| 20|12 | 110| 631722 | 6313z | 381

FIG |

N-gC HOLES



FIG I 5 :
I
e
T o L_
E
i [ Yoy
A B — [ e
L~§_ﬂ o
b
FIG 1 : =t
ri
. A
B
i [
R E % —-t=—Te
| ]
L
FIG 2 A
ri
a8
E
r_L,
<) -
»23(POLES)

OUTPUT] DIMENSION(mm) KEY SIzE BEARING NET
FRAME WG
NO KWIFG| L [S|R|A|[B|C|D|E|I|J|K|N|P|T|U|F|G|V|LOAD |UN-LOAD| (Kg)
. I (258{228]|113|30(110[ 10| 14|30 | 4 | 9 {130| 4 [160| 11146 5 | 5 | 20 | 62042z | 62022z 6

| [258]228]106 |30 [110{ 10 [ 14 [ 30| 4 | 9 |130| 4 [160] 11 |148| 5 | 5 | 20 | 62042z | 20222 6

I |278(238]113| 40| 110/ 10 | 19|40 | 4 | 9 |130| 4 |160| 16 |146| 5 | 5 | 25 | 62042z | 6202z 8
71 |04

IV |278(238(106 [ 40 [110{ 10| 19 {40 | 4 | 9 [130| 4 |160| 16 [146| 5 | 5 | 25 | 620422 | 620222 8

| [298|258(122|40|110{ 10 [ 19|40 | 4 | 9 |130| 4 [160| 16 [150| 5 | 5 |30 | 6204z | 62022 | 15
71 |07 | I |298]258(117 40 {110 10 |19 {40 | 4 | 9 [130| 4 |160| 16 |146| 5 | 5 | 25 | 62042z | 62022z | 14

IV [298(258(110| 40| 110 10 [ 19|40 | 4 | 9 {130| 4 [160| 16 |146| 5 | 5 | 25 | 62042z | 62022z | 14
90 | 1.1 |l |320]270{156 |50 [130| 12| 24 |50 | 4 [10[165| 4 |200| 20 |182| 8 | 7 |40 | 62052z | 6203z | 20
P | |358]306|146 |52 (130( 12 | 24 |50 | 4 | 12|165| 4 [200] 20 [182| 7 | 7 |40 | 62052z | 62052z | 25

| [350(300( 156 | 50 | 130{ 12 | 24 [ 50| 4 |10 165| 4 [200] 20 |182| 8 | 7 | 40 | 62052 | 6203z | 24
- | |358]306|146 |52 130( 12 | 24 |50 | 4 | 12|165| 4 [200] 20 [182| 7 | 7 |40 | 62052z | 62052z | 28

)

IV [380(330(156 |50 |130( 12| 24| B0 | 4 | 10(165| 4 |200] 20 |182| 8 | 7 | 40 | 62082z | 6203z | 34
112 |22 | IV [375(315]|146 | 60 (180| 15[ 28 |60 | 5 | 15|215| 4 |260| 24 |213| 7 | 7 |50 | 62062z | 62052z | 37
12 |37 | |405(345(146|60|180| 15 [ 287 60 | 5 | 15(2156| 4 |250| 24 |213| 7 | 7 | 50 | 62062z | 62052z | 44
112 |55 | IV [462(382|155| 80 (230( 15| 33|80 | 5 | 17]265| 4 [300(33 [224| 10| 8 |60 | 63082z | 63052z | 51
12 |75 | |472(392{155(80230| 15 | 38|80 | 5 | 17|265| 4 [300|33|224] 10| 8 | 60 | 63082z | 6305z | 63

FAE AR NFE] A WA 45 3]

#D &= SA= heo| Z&

8
SHIN MYUNG YeJ[e}§
9



»6=(POLES)

FRAME [OUT PUT DIVENSION(mm) KEYSIZE | BEARNG NET
NOKWFIGLSRABCDEIJKNPTUFGVLOADUN-LOADW(El'((gal)-”

& 02 I |282]242|125| 40 [110| 10| 19 | 40| 4 | 9 |130| 4 [160| 16|160| 5 | 5 | 30 |620dzz| 62022z | 12

IV |273]233]129| 40 [110{ 10| 19 | 40| 4 | 9 [130| 4 |160| 16|160| 5 | 5 |30 |620dzz| 6202z | 12

o o T |302|262|125| 40 [110] 12| 19 | 40| 4 | 9 [130| 4 [160| 16| 160 5 | 5 | 30 |620dzz| 62022z | 13

IV {293[253|129| 40 [110] 12| 19 | 40| 4 | 9 [130| 4 [160| 16| 160 5 | 5 | 30 |620dzz| 62022z | 13

| |292|242|145| 50 [130| 12| 22 | 50 | 4 | 16 [165| 4 [200| 18|188| 7 | 7 | 40 |62052z| 62042z | 22

90s 04| 1 |308|258[145| 50 [130( 12| 22| 50 | 4 | 12 |165| 4 |200| 18(182| 7 | 7 |40 |6205zz| 620dzz | 21

IV {308]258| 150 | 50 [130] 12| 22 | 50 | 4 | 12 [165| 4 [200| 18] 182 7 | 7 | 40 |6205z| 620dzz | 22

1 |336(286|160 | 50 {130 12| 24 | 50 | 4 | 15 |165| 4 |200| 20 |188| 7 | 7 |40 |62052z| 6204zz | 26

9oL [0.75] T |343|293|145| 50 [130| 12| 24 | 50 | 4 | 12 [165| 4 [200| 20 (182 7 | 7 |40 |62052z| 620dzz | 25

IV {347(297| 150 | 50 |130| 12| 24 | 80 | 4 | 12 [165| 4 200 20|182| 7 | 7 | 40 |62062z| 62042z | 25

I [347|287|185| 60 |180| 15| 28 | 60 | 5 | 15 |216| 4 |250| 24|224| 7| 7 |50 |6206zz| 62052z | 38

112M |15 1 [375(315|161| 60 |180| 15| 28 | 60 | & | 15 |215| 4 |250| 24|213| 7 | 7 |50 |6206zz| 62062z | 37

IV 379|319 170 | 60 |180| 15| 28 [ 60 | 5 | 15 |216| 4 |250| 24|232| 7 | 7 |50 |62062z| 62052z | 37

| 1377|317/ 185| 60 |180| 15| 28 [ 60 | 5 | 15 |215| 4 |250| 24|224| 7 | 7 |50 |6206zz| 62052z | 47

121 22| 1 |405|345|153| 60 [180| 15| 28 | 60 | & | 16 [215] 4 [250| 24|213| 7 | 7 |50 |6206zz| 62062z | 46

IV [409|349| 146 | 60 |180| 15| 28 | 60 | 5 | 15 [216| 4 |250| 24|232| 7 | 7 | 50 |6206zz| 62052z | 45

1325 [37] 1 |450(370|228| 80 |230| 15| 38 | 80| & | 17 |265| 4 |300| 33|274| 10| 8 | 60 |6308z| 6306z | 63

132M |55 1 |488[408|228| 80 [230| 15| 38 | 80 | 5 | 17 [265| 4 [300| 33|274| 10| 8 | 60 |6308zz| 63062z | 73

160M |7.5| 1 |615|505] 240 |110{250| 19 | 42 [110] 5 | 20 {300| 4 |360| 37|317| 12| 5 | 90 |6310zz| 6208z | 128

160L | 11 135

180L [ 15| 1 |es8|578[300(110{300{ 19| 48 | 110 26 [350] 4 [400] 425358 14| 9 | 90 |631122| 63092z | 248

2000 185 1 [820680[311140[350( 19| 60 [140] 5 | 26 |400| 8 |450| 53|398| 18| 11|110(6313z| 6311z | 268

2 274

2050 |30 [ 1 [867]727]375 [ 140(450{ 19| €5 [140] 5 | 30 [500| 8 |550( 58 |441| 18| 1111063152z | 6311zz | 329

37 332

250L | 45| | |045|805]398 [ 140]450| 19| 75 [140] 5 | 30 [600| 8 |B50{67.5 486] 20| 12(110{63172z| 63132z | 381

55 394

. »232(POLES)
FRAME| OUT PUT DIVENSION(mm) BEARING NET
MM RE HEI| (F32) N [qwlrs | Ll slw]NJ]a]o|e]|H| 1] ul o]toanfuome V\?Eilgg”
Three Phase induction Motors For 715 | o075 | 1 409 | 276 | 75 | 138 | 145 | 33 | 133 | 71 | 10 | 170 | 122 |620722| 6204z | 16
Wood Work 7L | 15| 1 |43 | 301 | 75 | 138 | 146 | 33 | 133 | 71 | 0 | 195 | 122 |6207zz| 6204z | 18
9s | 22| 1 | 467 | 34| 91 | 166 | 180 | 33 | 133 | 90 | 170 | 210 | 141 |6208z| 62052z | 25
oM | 37 | 1 | 508 | 34| 91 | 166 | 180 | 33 | 184 | 90 | 170 | 230 | 141 |6208zz| 62052
oL | 55| 1 |58 | 34| 91 | 166|180 | 33 | 154 | 90 | 170 | 250 | 141 |6208zz| 6205z

FIAE AREE AeEee AHrE B E R eyt
*HAFE2R= 0 mm9.

0.5

e Al (Specification) s A N

« [ (Voltage): & :
220V,220/380V,380V, ‘ B ' =
220/440V,440V : I

« Zal5(Frequency) :60Hz(50Hz)

- 3%:(Poles):2P F | 4
« 8|%#%:(R.P.M):3600(3000) 11— g L.
. |

« 9||=kA (Type of Enclosure):
Mu™ (Totally Enclosed)

« 2 (Cooling System):
M4z} (Fan Cooled Type) B i

* I (Rating) 4% (Continuous) U \ 1
« Mo Z (Insulation Class):E,B,F&

10

SINFIN{VN(€] MOTORS
1



»43(POLES)

FRAME OUT PUT DIMENSION(mm) KEY| BEARING W'\\EIIEG-II:IT
NO |kwlre| L|s|e|alB|c|D |ofm| P |H|a|l R [N| V|1 |K|U| T |F |LOAD|UNo0MD| (Kg)
. 905(0.75| 1 |255{202{83| 140| 100(65.5 |15:87|152| 99 | 106 |90 |189|82.55| 2 [M10] 180 | 10 [130| 17.74|3 97| 620622| 62042z | 20
90L| 15| 1 |261222|39|140|125(515 |19.06(152| 99 | 90 |90 [189|95.02| 4 |M10] 180| 10 [150| 215 |4.76|620722| 62042z | 23
o 1
AL E HET| 90L| 15 | IV [2721222/50|140|12562.5 [19.05|152| %0 | 106.4] 90 [ 189[82.55| 2 [M10[ 180| 10 [150| 21.2|4.78|62072z| 620422 | 23
(S mne) 9oL 15 | IV [2721222|50] 140] 125625 | 16 |152] 90 | 106.4] 90 [189[82.55 | 2 [M10[ 180| 10 [150| 17.74| 4.0 620722 6204z | 23
Three Phase induction Motors 90L| 15 | I [275(222|53] 140] 125|655 | 127 |152| 99 | 106 90 [189[82.55| 2 |M10[ 180| 10 [150| 145 | 3.2 62062z 62042z | 24
Hydraulic Pump Type aoL| 15| 1 [261|222]30| 140 125[51 5 [19.08|152| 99 | 105.6{ 20 | 189]82.55| 4 [M10] 180] 10 [150| 215 |4 76| 620722 620422 | 23
90L| 15 | I |275[222|83| 140| 125|655 | 16 |152| 99 | 100 {90 [189| 63 | 2| M8 [180[10 [150| 186 5 |62062z| 62042z | 24
100L] 2.2 | IV |282{233|49( 160| 140|55.5 [19.05|173| 108 | 106.4|100|208|82.55 | 2 |M10| 20812 [170| 21.2 |4.78|620722| 62052z | 30
100L| 2.2 | IV |284]235|49(160]|140(55.5 | 16 |173|106| 106.4{100]|206|82.55 | 2 [M10{208|12 [170|17.74] 4 [6207zz| 62052z | 30
1125| 2.2 | T |272/230(42[190{114| 57 [19.05|178|116| 90 [112]228|95.02| 4 [M10| 230{ 12 |146| 215 |4.76|62072z| 62052z | 32
1125]22 | 1 |2720230(42[190[114| 57 |19.05|178|116| 105.6{112|228(82.55 | 4 [M10| 230| 12 |146| 215 |4.76|6207z2| 62052z | 32
112L] 37 | I |320[260(60] 190| 140| 75 |22.22|178|116| 146 [112|228[101.6| 2 |M14| 23|12 [170| 25.12]6.37|60082z| 62052z | 40
112L] 37 | I |320[260(60{190| 140| 75 | 16 |178|116| 146 [112|228[101.6| 2 |[M14| 26|12 [170( 17.74 4 |6008zz| 62052z | 40
112L] 37| 1 |302{260[42|190| 140| 57 [19.05|178|116| 106.4[112|228|82.55| 2 |M10| 23|12 [170| 215 |4.76|620722| 62052z | 39
o 112L] 37| 1 |302{260[42|190| 140| 57 |19.08|178|116| 105.6[112|228|82.55| 4 |M10| 236 | 12 [170| 215 |4.76|620722| 62052z | 39
® At (Specification)
39 (Vohtage): 112L[37 | 1 |302]260(42|190] 140| 57 [19.05(178116] 90 [112[228|95.02] 4 |M10| 25|12 |170| 215 |4.76|620722| 620522 | 39
220\/,220/380\/,380\/, 1);(1]3:9] A]_OL_Q. 7He};};g] ;‘I,_ﬁ_rg wHAg & o?b_l,]q,
220/440 240 B i
« Zal(Frequency) :60Hz(50Hz) -0.5
+ 24(Poles):4P

* 3|8=(R.P.M):1800(1500)
« 2|m|&HA (Type of Enclosure): FIG |

Mu|& (Totally Enclosed) o
» d214A (Cooling System): PF )
2|42t (Fan Cooled Type) | } ,,7; ,
* F24 (Rating) : ¢423(Continuous) o ) 4 ]
« HodA|Z (Insulation Class) :E,B,F& r ‘ / !
l O |
/e A o ‘
4-8K_HOLES /] I |
L 0 M
FIG [ : -

L__MS S 4-gK_1OLES 1 i
FIG 1 ? E
S iy
%L_ )7
Al
FIG I




E »43(POLES) "+ EBME KS EAEY, THEAENEMA 372AY.

e ouT PUT] DIMENSION(mm) KEYSIZE | BEARING NET
B RE BEY| (BRY) o = e
s, kW iEGl L s Qi Al Blc| B Ef H I | k|{M|N|o|lu|T|F|G|v |LoAD|uniom| Ko
ingle Phase induction Motors
. «71 |02 |1 [230|200]138] 112] 90| 45| 1406 30| 71 |180| 7 |118]134| 67|110] 13 | - | - |25 |202zz| 620222 | 7
standard Type
‘ 71 lo.25| T |240]210]138]112| 90 | 45 |14h6| 30| 71 |150| 7 [118[134| 85| 110 13 - |25 |6202zz| 62022z 8
«80 | 04 | 1|287(247|153|125|100| 50 | 16)6| 40| 80 |165| 10|126]145]| 88|130| 13 | 5 530 |6203zz| 62022z | 10
90 |04 |1 ]261]221|173]140{100| 56 | 19| 40| 90 |190| 10 {139|165| 92| 130|155 6| 630 [6204zz| 62032z |
90 |055| 1 |276]236|173| 140{125| 56 | 1956| 40| 90 |190| 10 |139|165| 97| 155 155/ 6| 6|30 |6204zz| 62032z | 13
«90L [075| 1 1291|251/ 173| 140| 125| 56 | 19j6| 40 | 90 [190| 10|139|165| 97| 155|155 6| 6|30 62047z 62032z | 16
90 | 11| 1[311]271|173] 140|125/ 56 | 1956| 40| 90 |190 | 10 [139|165|101| 155|155| 6 6 |30 |6204zz| 6203z | 28
114 | 11| 1 |314[264|223| 190 114] 70 |22h6| 50 | 114.3|224 | 12| 173]|217|122/ 165| 18 7| 7140 [620622| 6204zz| 21
1148 | 15 | 1 [329]279]223|190(114| 70 |2216| 50 | 114.3| 224 | 12 |173|217|129) 165| 18 7| 740 |62062z| 62047z | 32
114M 1| 2.2 | T |349(289[223| 190( 140| 70 |28h6| 60 | 114.3]|224 | 12 |173|217|150] 165 24 | 71 7|50 |62062z| 6204zz | 35
e V1359 (289|272 140 ik ' 36
o Af2 (Specification) #184T 190 70 |8506 70 | 114.3[224 | 12{199(217]109] 165| 25 [6.356.3345.2|62062z| 62042z
« M2t (Voltage) :220V(110/220V) 1140 | 3.7 | | 359 |209|272| 190] 140| 70 |28h6| 60 | 114.3|224 | 12 [173|217{133 165| 24 | 7 | 7|50 [B2062z| 62042z 38
£115/230,230V 7 L
T ’ 4.[324| 272|190 140| 70 (28504 1143|224 | 12{199(217(109| 165| 25 |6.396.3545.2 62062z 6204 40
« Z0k(Frequency) :60Hz(50Hz) il : L el =
« 2%(Poles):4P 20157 | 55 | v |448|362|305| 216] 178| 90 Bacre 85 | 133:3| 255 | 11|257| 243|122 215|305 792797 62 |63072z| 63062z | 61
.ilde(R'P'M>:1800(1500) #2157 | 7.5 | V |483402|305| 216| 178| 90 [2494 86 1333|255 | 11|257|243(122] 215|30.5(7.927.92 62 |6307zz| 63052z 70
« 9mekAl (Type of Enclosure):
H5%(Open drip-proof) 2V E 0] AJSES: TS ALz WAE % gt
* H24(Rating) : 9% (Continuous) *Hi]—’r—{'—i}é 0 mme<. R
« MoiA|Z(Insulation Class): E,B,F& -0.5
« 7|54 (Starting Method):
2417|158 (Split Phase Starting)
ZdlM 7|=¥(Capacitor Starting)
ZolM 7152%8(Capacitor Starting & L
Capacitor Run) FIG | . £
r_r_,
3 {Jﬁfa o

[
4-gK HOLES r

FIG I

FIG I

4-gK HOLES




FIG IV

AN

4-gK HOLES

L
S - 4-gK HOLESK ? _\
. »43(POLES) "%, EAE NEMA 27249,
CIA S ME7| (ME8) ERAME|OUT PUT DIMENSION(mm) KEYSZE | BEARNG | NET
Single Phase induction Motors NO |kwlrg|L|{s|al A | B |c|D|E[H[I|K[M|N[O|U|T]|F|G/|V]|LOAD[UN-LOAD| (Kg)
TEFC Type #1847 | 22| 1 [429(359]272 | 190 | 140 | 70 |285he|70|1143 (224 | 12 [199]240(121165| 25 |6.3506.35 45 | 62062z | 63052z | 39
#1847 [3.7| 1 |449|379]272 | 190 | 140 | 70 2856 70[1123 224 | 12 [199|240(121|165| 25 |6.35/6.35| 45 | 620622 | 63052z | 43
® Al (Specification)
| |520]434(305 | 216 | 178 . 41255 | 1 5(7.927. 63052 | 61
46t (Vohage):220V(110/220V) #215T |55 305 90 [34.9n8i86|1334 (255 | 11 P57|273(122215|30.5|7.92(7.92| 62| 630722 22
#115/230V,230V #2157 | 75| 1 [550[464(305 | 216 | 178 | 90 [9ne\86)1m4 (255 | 11 P57|273(122/215(30.5|7.927.92| 62|630722| 630522 | 72
* Zuk(Frequency) :60Hz(50Hz) o
e e F)AES Ao AR5 A4 WD £E e

*HAGEAHE 0 mm9.

+ SR .P.M):1800(1500) E

» 2|z|8HAl (Type of Enclosure):
& (Totally Enclosure)
+ M2 (Rating) : 9% (Continuous)
« HotAZ (Insulation Class): E,BF&
* 7|54 (Starting Method):
2dlM 75289 (Capacitor Starting &
Capacitor Run)

A
4-gK _HOLES I l

12
SHIN MYUNG iieJ[eiS)
13



Cht T ME7| (ZIME)
Single Phase induction Motors
Capacitor Run Type

® A% (Specification)

« Mt (Voltage):220V(110/220V)

« Zal=(Frequency) :60Hz(50Hz)

+ 3% (Poles) :4P

* 3JX=(R.P.M):1800(1500)

« 9|5/t (Type of Enclosure):
25%(Open Drip-proof)

« M2 (Rating) : 9% (Continuous)

+ ModAIF (Insulation Class):E,B,F&

EHA i MST| (WEIH)
Single Phase induction Motors
Cradle Base Type

e Al2} (Specification)

« M2t (Voltage):220V(110/220V)

« Zl(Frequency) :60Hz(50Hz)

* 25(Poles):4P

* 5|=(R.P.M):1800(1500)

+ 2Jz|ekA|(Type of Enclosure):
2%3(0pen Drip-proof)

* I (Rating) : 9% (Continuous)

« MoiA|Z (Insulation Class) :E,B,F&

« 7|34 (Startring Method) :
Z2HAM7158 (Capacitor Starting)
EAMFT S (Capacitor Run)

»4=(POLES)

FRAME|OUT PUT DIMENSION(mm) KEY SIZE BEARING WIEIELT
NO |kwirig| L [s|a|Aa|B|c|D|E|H|I|K[M|N|OJU|T|F|G]|V|LoAD|UN-LOAD| Kg
90S | 0.4 | I |235(195(173[140{100| 56 [19j6] 40 | 90 |190| 10 [139|165(102|130|155| 6 | 6 | 30 |6204zz| 620dzz | 11
90L [0.75| I |260(220{173(140{125|56 [196] 40 | 90 {190| 10|139|165|111|155|15.5| 6 | 6 |30 |6204zz| 62042z | 16

)N AL AT AR WAE 2E gt
*HAT3AE 0 mmel.

-0.5

FIG |

- t
4-#K_HOLES % T _|

»4=3(POLES) 4, EAE NEMA x|+72Y.
eRavElouT PUT DIVENSION(mm) KEYSIZE | BEARNG | NET
WEIGHT

NO | kw [L|s|a|A | B]|c|DI|E|H|I|K|M[N|O|U|T]|F|G]|V |LOADUN-LOAD| (Kg)

#48 | 02 |246|216|144 (107.7]69.85(635|14 h§|30| 76| 150|8.6 | 67 |134]85(204| 13 | - | - | - |6202zz| 62022z 7

#48 | 025 |246|216|144 |107.7(69.85|635|14 h|30| 76| 150|8.6 | 67 |134|85(204| 13 | - | - | - [6202zz| 62022z 9
#56 | 04 |301(261|177| 124 | 76.2 | 70 | 196[40|94 | 165]| 10 |83 [165|97|248| 15.5| 6 | 6 | 30 |6204zz| 6203z | 12
#56 | 055 |301|261|177| 124 | 76.2 | 70 [ 19i6|40|94|165| 10 |83 [165]|97(248|15.5| 6 | 6 | 30 [6204zz| 6203z | 14
#56 | 075 |301]261|177| 124 | 76.2 | 70 | 19i6|40|94|165| 10 |83 [165|97(248]| 15.5| 6 | 6 | 30 {62042z | 6203z | 16

F)AIES] AR ke
*HAGF2R= 0 mmé.
0.5

0_._.
%
Jo
att
(E
oM.
L]
4
1
32
oy
i
i

#N

«
b

¢ N
]
V] 4-gK_1HOLES I




oY 7T HSI| HHY 7= M37| (Zdd)

Three Phase induction Motors Single Phase induction Motors Capacitor Run Type

® Al (Specification) ® Ate} (Specification)

«Z3 (Out Put):0.4KW « &3 (Out Put):0.4KW,0.2 KW

« Het (Voltage): 220V,220/380V,380V,220/440V, 440V « He} (Voltage): 220V(110V/220V)

« FI5(Frequency) :60Hz(50Hz) « FI(Frequency) :60Hz(50Hz)

+ 35(Poles):4P 6P, 8P + 24(Poles):4P 6P

* 3|84+(R.P.M):1800(1500),1200(1000),900(750) « 3|8%=(R.P.M):1800(1500),1200(1000)

« 9|Z%A|(Type of Enclosure): M3 (Totally Enclosed) IP54 « 2|4 (Type of Enclosure) : M3 (Totally Enclosed) IP54
* d2(Rating): 9% (Continuous) * H2{(Rating) : 9% (Continuous)

* HodAIF (Insulation Class):E,B,F& + oA 2 (Insulation Class):E,B,F&

120 120
€ 4-g#12 HOLES
1—:_§
’-3270 19h6
1 1 : 10 TAP < b
-0’ SECTION "0-0""
115
8 RE HSI| (V/T) ER R HST| (ZIME)
Three Phase induction Motors standard Type Single Phase induction Motors Capacitor Run Type
® A& (Specification) ® AF2¥ (Specification)
+Z3 (Out Put):0.4KW,0.75KW,0.2 KW « 33 (Out Put):0.25KW.,0.4KW.0.2 KW
« Jet (Vottage): 220V, 220/380V,380V, 220/440V, 440V « 79t (Voltage): 220V(110V/220V)
« Fai=(Frequency) :60Hz(50Hz) * 2I=(Frequency) :60Hz(50Hz)
* 22=(Poles):4P 6P + 22=(Poles) :4P,6P
* 3|74=(R.P.M):1800(1500),1200(1000) « 3|M=(R P.M): 1800(1500),1200(1000)

* Q=LA (Type of Enclosure): 213 (Open drlp -proop) + |Z|4 (Type of Enclosure) :2H (Open drlp -proop)
* 84 (Rating): %4 (Continuous) * &2 (Rating) : 94<5(Continuous)
* BoiAIZE (Insulation Class):E,B,F& * HodAIZ (Insulation Class):E,B,F&

291.6 167.5
243 42.6

3-#10 HOLES|

5.87!

4.77
83

Il
2

#114.3

156

67

14
N NFN{VN(ed MOTORS
15



QUALITY MOTORS SINCE 1958

AN ZMT (HelMA| R SE HiE)

EHEQH(3H) axet(6M) BEQY-A(6M)

EE HEg 5ol
© 0) R ©® R
® S @ S
® T ® T

CEL e Tinil=
0 R O —— Heigi gt
cEE s % ———s SR T
(©)} i @——-T T —06 ——TrT

2FeH(9H Y) SHA(9M 2) BHESLY-AJ|E(12M)

D ® O

©00
- »w >

©E

kI

Mt MEg mEg
@~_ D——0O—R ® O—0O—R X—@—® O—0—R
® ® ) s ® &——~0——5 Z—0—® @—@—s
@ 90— T & O&—6 7 Y—0—6 ©@—06—T
1" nEY aFg
e—® O0—R @—0 O0—~ X—@ ®—0 O—R
—® @—s &—® @—s -0 s o
6—@ o—T e—o® O—T Y—0 6&—O® 0—T
b,
ChA M
SEg(2M) BHEgt(4M) oEet(6M)
“EF] o  HEY
6—0—0 o
0 E g e | e—o—o0—
@ ® 2 © @ 2 5|7A|® © b2
3 o5 N s A
&—o0—=d
0 -6 o © —D il % o) 2
@) ! © Q # A MAID @ BIE

16
NIV N (€] MOTORS
17





